
 

  

 

 

M.A. DEGREE EXAMINATION —  
JANUARY, 2014. 

First Year 

Economics 

STATISTICS FOR ECONOMISTS 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What are the functions of statistics? 

 ¦ÒÎ°¯¼ß £oPÒ ¯õøÁ? 

2. What are the methods of collection of data? 

 ¦ÒÎ ÂÁμ ÷\P›¨¦ •øÓPÒ ¯õøÁ? 

3. What are the types of classification? 

 ÁøP¨£kzxu¼ß ÁøPPÒ ¯õøÁ? 

4. What are the categories of statistical series? 

 ¦ÒÎ ÂÁμz öuõhºPÎß ÁøPPÒ ¯õøÁ? 
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5. What are the types of measures of central 
tendency or average? 

 \μõ\›PÎß ÁøPPÒ (or) ø©¯ {ø»¨÷£õUS 

AÍøÁPÎß ÁøPPÒ ¯õøÁ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What are the methods of data collection? 

 ¦ÒÎ ÂÁμ ÷\P›¨¤ß •øÓPøÍ TÖ. 

7. Explain the different measures of dispersion. 

 ]uÓÀ AÍøÁ°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 

8. From the following data, obtain two regression 
equations. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x öuõhº¦÷£õUS 

\©ß£õkPøÍ¨ ö£ÖP. 

Debator : 1 2 3 4 5 6 7 

Marks by A : 10 34 28 30 44 38 31 

Marks by B : 32 39 26 30 38 34 28 

9. Using the data given below calculate index 
numbers of prices from the following data using 
(a) Laspeyre's and (b) Fisher's methods. 

Commodity 1970 1980 
 Price 

(in Rs.) 
Quantity Price 

(in Rs.) 
Quantity 

A 6 50 10 56 
B 2 100 2 120 
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C 4 60 6 60 
D 10 30 12 24 
E 8 40 12 36 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Âø» SÔ±möhsPøÍ 

PnUQP. (or) (A) »õì¤¯º •øÓ (B) ¤å›ß 

`zvμzøu £¯ß£kzv PnUQkP. 

Commodity 1970 1980 

 Price 
(in Rs.) 

Quantity Price 
(in Rs.) 

Quantity 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

10. Distinguish between probability and  
non-probability sampling. Discuss various 
probability methods of sampling. 

 {PÌuPÄ ©ØÖ® {PÌuPÁØÓ TöÓkzuÀ •øÓPøÍ 

÷ÁÖ£kzxP. ©ØÖ® £À÷ÁÖ  {PÌuPÄ TöÓkzuÀ 

•øÓPøÍ ÂÁõvUP. 

11. Discuss uses of significance of index number and 
its problems. 

 SÔ±möhsPÎß £¯ßPÐ®, •UQ¯zxÁ® ©ØÖ® 

SÔ±möhsPÒ  u¯õ›¨£vÀ EÒÍ ¤μa\øÚPøÍ 

ÂÁõvUP. 
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12. A box contains 5 green, 6 red and 13 white balls. 
One ball is drawn at random and in its place a ball 
of other colour in put in the box. Now one ball is 
again drawn at random from the box. Find the 
probability that is green or white.  

 J¸ ö£mi°À 5 £aø\, 6 ]P¨¦ ©ØÖ® 13 öÁÒøÍ 

£¢xUPÒ EÒÍÚ. μõßh® •øÓ°À ö£mi°¼¸¢x 

J¸ £¢øu ö£ØÖ AuØS ©õÓõP CßöÚõ¸ {Ó £¢øu 

ö£mi°À ÷£õkQÓx. uØ÷£õx «sk® 

ö£mi°¼¸¢x J¸ £¢øu μõßh® •øÓ°À 

÷uº¢öukUQÓx. £aø\ ©ØÖ® öÁÒøÍ {Ó £¢øu 

ö£ÖÁuØPõÚ {PÌuPøÁ PõsP. 

—————— 


